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    0001 0000 0000 / 0010 0000
       1 0000 0   >= 10 0000 = 1
     + 1 0000 0
       --------
       0 0000 0
              00             = 0
              000            = 0
              0000           = 0

680 / 21

    0010 1010 1000 / 0001 0101 = 0010 0000

20 / (-5)

Hier ist es einfacher 20 / 5 = 4 zu berechnen und danach das Zweierkomplement zu bilden.

    0001 0100 / 0000 0101 = 0000 0100
 -     1 01
    --------
          00
Zweierkomplement von 0000 0100 => 1111 1100

(-124) / 7

Auch hier rechne ich 124 / 7 = 17

    0111 1100 / 0000 0111 = 0001 0001

Zweierkomplement von 0000 0111 = 1110 1111

 Marcel Suter
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